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MURA A1 HE UsdR [Aoid AMAdl.
Explain in detail the weighted average cost of Capital.

W5 5Ul 10%-1 T 1000 15 2dl 5 4l Heddl ReiaR T 96+ Bud egiR
uld 9. Relaels etelz wgdldl W2l T 2 Ysd 9. ol SARUAL €2 50% <ld dl
[Roluz-l s2eue 34l usdr il o 2l el SREHeA 8ld dl 3il usdR 9
219 ?

A company issues 10% debentures of 5 years maturity. The face value of the
debentures is ¥ 100 and its issue price is I 96. The company pays % 2 as
floatation costs per debenture. If the tax rate is 50%, compute the after tax cost
of debentures. What would be cost of these debentures if they are irredeemable ?

AYWOR

“3(2o1d 2[aa11, 21l t1as 2[R 2t Alvoll S1H(1F] 2uas vUlEHAMAL aual
[AHOM 9.7 — AHAl.

“Traditional approach is an intermediate approach between the Net Income
approach and Net Operating income approach.” Explain.

Borg B AL DA sl -

3
Sl 942441 (Z 100 L 2R) 4,00,000
AHA 2 qHIR] 2,00,000
12% (361231 T 100 Al »is 4,00,000
s142(13) sl (EBIT) 2,00,000

SEAdl AL T 120 ARELS A [36AAL T 90 [36lAELE 1R @ld 9 2As
AUl €2 40% 9.

(a) 2Rels sl (EPS) g ¢ ?
(b) Su-ll ae [Refud eisgia uA Sl eigin-dl Hdl usd-l esiaul g ¢ 2
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Following information of Rinku Ltd :

3
Equity share capital (X 100 per share) 4,00,000
Reserve and surplus 2,00,000
12% Debentures of I 100 each 4,00,000
Operating profits (EBIT) 2,00,000

The market price of equity share is ¥ 120 per share and debenture is I 90 per
debenture. Income-tax rate is 40%. Find out

(a) What is the Earning Per Share (EPS) ?

(b) What is the percentage cost of capital to company for the debenture funds and
equity funds ?

ARuSlY AdAAS dZlE d¥ Aeusla [l GuAldl U3 59U 2 Belsel Hld
A1l

As a Financial Manager, when you will use Financial Leverage ? Explain with
illustration.

Y4 vl 0L HIRldAL FaR wieo1d 2lsicis asl s

Describe critically Modigliani-Miller approach to capital structure.
AYAUW/OR

YA Al 29 52l ulRetol 23l

Discuss factors affecting Capital structure.

(581 (&ALl suledl.

54 GAdlertl 2sHL (Rvl) 50,000
[Ru2 Y3dR % 80,000
1% 50,000
$ARUAL & 40%
wisHels Al [BHd 40
wsHels Aldd usd T30
S5l -l Aval 18,000

ARLATL 421 :

G  sRlR) [azer

() -weusly [dazey

(iii) ARELS sl (EPS)

(iv) AUY 2 592 uedi-l sl (EBIT)
2



Information of Nikki Ltd.

Total production in units (Nos.) 50,000
Fixed cost < 80,000
Interest 3 50,000
Tax rate 40%
Selling price per unit T40
Variable cost per unit T 30
Number of equity shares (Nos.) 18,000
Calculate :

(i) Operating leverage
(i) Financial leverage
(iii)) EPS

(iv) EBIT

3. o d ol dvil
Attempt any two :
i) sdalla YA 292 sdil uRetol Al
Discuss factors affecting Working Capital.
() A5 AALAAAL A4 (tool) dZly As3 Vielwust-dl Gualldiadl 2l s2u.
Discuss the utility of cash budget as a tool of cash management.

(i) Swedd vt lld »led 9 ? Gelr (liberal) i 535 (strict) AL (L[l 2l
astad Ul

What is Optimum Credit Policy ? Distinguish between liberal and strict credit
policies.

(iv) o] 4Ll sdll Sdil WLl

Describe objective of maintaining inventory.

4. (A) [Rlads [Hely dar w2 sal Aael3 wadl ML dAd 9 2 AH2l.

Which practical problems have to be considered in making dividend decision ?
Explain.

(B) ®L3l u22l-ll Aledl A Huleleil AModl.
Explain the benefits and limitations of Leasing.
2Yal/OR
(A) lads usizl amendl.
Explain the kinds of dividend.
(B) -leusly uzel - s1H(l¥l vzl 942 dslad.

Distinguish between Financial lease and Operating lease.
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5. o d 6l uR AiY Avil.

Write notes on any two :

(1) U sy
Gordon Model

(2) AL Yigadl ABC ugld
ABC method of inventory control

(3)  sdalla Hd-AL uiltdal
Sources of Working Capital

4)  eaidl w2
Cost of debts
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